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¢ -7 = FRE7,2
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¢ 2-9 HF E72
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¢ A PRONFS - Bimn (bit) > o 1T

e
T TR R TR AR R

- i % % (binary system) -




L: e e p e
=% (byte) 8~ B

Zz ¥ (word) 16+~ W
3% 2 (double word )32+~ DW
r 3 %2 (quad word) |[641 = QW




H i~ FE? j=h By T 0

+ il KB 210By tes 10Bytes
(kilobyte)

R ] MB 220Bytes 10%Bytes
(megabyte)

TRz GB 230By tes 10°Bytes
(glgabyte>

L] TB 240By tes 101%Bytes
(terabyte)

+ e PB 2°Bytes 101°Bytes
(petabyte)

TR EB 250By tes 1018Bytes

(exabyte)
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¢ T By SO bps s B i &
R TR ] R

o A il ¥ % Kbps ~Mbps ~Gbps % H
o LArF a1, 024 (210) -
1,048,576 (220) ~ 1,073, 741, 824 (230)
B RAE e R A1 (109 ]
FE (109~ 10 (109 ==



N= dp K+ d oK et diK + doK + dK + d2 K 4ot doK

p-1 i
=2 d;K , 0 <di< K-1, -g<i<p-l

¢ N_%E 'ﬁyt: :—é’ o~ NK — (dp_ldp_z'”dldo. d_ld_z'”d_q>K
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¢ F K > 12345, 678;7102@— Bt dgF > NP

VLT £t N Ae T 5 TR 5N

12345. 678,y = 1 x 104 + 2 x 103 + 3 x 10¢ +
4 x 100 + 5 x 1004+ 6 x 107! ¢
7x 102+ 8 x 1079

¢ 1101010. 112’4—\" B ETHF NPT IRT &
T Ao T 5 TE 5N L

1101010.11, =1 x 26 + 1 x 2> + 0 x 24 +
1l x 224+ 0x224+1x2 +
0x20+1 x21+1 x 2¢
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¢ 1234. 5678 — B N~ 8cF > NPT ILET AT
4T 5 38 5N

1234.567 = 1 x 83 + 2 x 8 +3 x 8 + 4 x 8
+5x8l+6x8%2+T7x 83

VIRV LS T M

56789A.BC,, = 5 x 16° + 6 x 164 + 7 x 163 +
8 x 162+ 9 x 16! + 10 x 160 +
11 x 1671 + 12 x 162
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2-2-1 = Bix &%
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¢ L AT A pE K Rk
1000+ & i~ #F 8% = 1000,9-8,, (&% &
= 1000, = 8;)) °
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¢ ~iEir k3 (octal system) #0410 -~1~2 ~ 7

e ﬁscﬂr P 3T B K o

¢ d e mE N KB G - B S - B
B F o L" 1T - BT <810> & R E g =
10, 2R 785 mw s BT ell, (9y0) ~ 12
(1010) . . 178 (1510) A 208 (1610) A 218
(1710) Y. 278 (2310) A 308 (2410) A 318
(2510) Yo 378 (3110) 408 (3210) 778
(6319) > F1& TlgHE B &k StA@ G = l:@:mﬁx?t
- ﬂ;;&f;: » BT — ‘B‘&'} (6410) G /E\.?E-l:%%
2100g 0 H T i 0 g4 o
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L kA adecimal system) &_140 >

(hexade
1~2~9~A~B~C~D~E~FF+ > B#HF i
"‘Lﬁimé}% o
d "‘F;l (15yy) ® &+ &k ff%‘*’m“ i fc

b fo - BEF > U T - BEF (16)) 2R
e PR e
(1719) ~ 124 <1810>‘ 1915 (2959) ~ 1A}

(26,0) ~ 1Bye (2710) ~ .. 1F;0 (3150) ~ 201
(3200~ 20 (3 <1 ol (el Csb
(48,0) < 3115, (49,,) 3 (66310) FF,,
(25% ﬂ FF A+ = &% "%“’m = [had Im

ﬁxf _ ,@;ﬁ,:_;_ ’ erIJ’L’—— l]}ﬁ{—a’- (25610> & /F'
e 100, 0 B vgiet i
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A AEN | DB T ER ] A SER ) A SER  TSER | T ER ] ST
0 0000 0 0 16 10000 20 10
1 0001 1 1 17 10001 21 11
2 0010 2 2 18 10010 22 12
3 0011 3 3 19 10011 23 13
4 0100 4 4 20 10100 24 14
S 0101 S S 21 10101 25 15
6 0110 6 6 22 10110 26 16
7 0111 7 7 23 10111 27 17
8 1000 10 8 24 11000 30 18
9 1001 11 9 25 11001 31 19
10 1010 12 A 26 11010 32 1A
11 1011 13 B 27 11011 33 1B
12 1100 14 C 28 11100 34 1C
13 1101 15 D 29 11101 35 1D
14 1110 16 E 30 11110 36 1E
15 1111 17 F 31 11111 37 1F

BETZ SR 1 +
2\ \-—L ‘J‘".@lf_é’fd'ﬁg\i\’
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0-9-4 Ho v A~ LiEffd

L BT

0621. 78,5= (5 x 1000) + (6 x 100) + (2 x 10) +

(1
= (5

(1

PP K

1) + (7 x0.1) + (8 x 0.01)
103) + (6 x 102) + (2 x 101) +
109 + (7 x 10°H) + (8 x 1072)
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51763.24= (5 x 8) + (1 x 8) + (7 x 8) +
(6 x 8) + (3 x8Y) + (2 x 8&1)
= (b x 4096) + (1 x512) + (7T x 64) +

(6 x 8 + 3 x 1) + (2 x 0.125)
20480, + 512,, + 448,, + 48, +

3,0 + 0.25,,
— 214912510
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F2A9.Crs = (F x 16%) + (2 x 162) + (A x 161) +
(9 x 169) + (C x 1671)
= (15 x 4096) + (2 x 256) + (10 x 16) +
(9 x 1)+ (12 x 0.0625)
- 61440, + 512, + 160;, +
9., + 0.5,
~62121. 75,

19



10110.0011, = (1 x 24 + (0 x 2%) + (1 x 22) +
(1 x2H) + 0 x2% +x2D +
(0 x22)+ (1 +23% +1 + 2%
= (1 x16)+ (0 x8 + x4+
(1x2)+Ox1) +x0.b)+
(0 x 0.25) + (1 x 0.125) +
(Ix 0.0625)

16,0 + 4y + 219 + 0.125,, + 0. 0625,
22. 1875,
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2 |59 1 (59 11 24t
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2 |14 0 (14% 11 2:ith )
2 | 7 1 (T% 1128
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21



(3) 35 ] #IRA th= B 41 4
0. 70 B~i8 ] H3n e 3k 112
X 2

)R E - — (1] 50
0. 50— B8] HcRA k112
X 2

|t B o (1) 00— | iR A ¥ 0pF i 2

R BT R # He SRS B IR A
(4) ﬁ:ﬁ—fgﬁ;;gg/,’\ ) BER A HT
111011. 11,

(@
x%\u- Fﬂ
[l
N
b.
O
(Je)
-3
O
o

22



- 38 e F 5176.3125, 4k = N B BT

(1) 5176.3125,, = 5176,, + 0.3125,,
(2) 35 91 BEHIR A chin 3B (4 57 52

8(5176 0 (5176% 1184 4ic)
8647 7 (B477% 118k i)
8 |80 0 (80% 14 84 4i)
8 |10 2 (10% 118tk #)

@ 1 (Bt 7§ »elie)

BRI B R L o B F 2 e BT AR 15176, =

12070,
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) feEh L B - 2—(2)5000
0.5000— B~F | #edn A 3k 118
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| HeBh L fF %0000
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(1) 4877.6,, = 4877, + 0.6,
(2) 3 D EHIR A h-L 2 i 47k
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e [ mepmes ) | Uswpr| 2w | s [ rmes s | vsie | 2k
+8 = = R = = | 1000
+7 0111 0111 0111 -( 1111 1000 1001
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